4 VCE & PDF https://lwww.geekcert.com/p4070-005.html
' 2024 Latest geekcert P4070-005 PDF and VCE dumps Download
2 GeekCert.com

P4070-0059%4S

IBM System z and zOS Fundamentals Mastery

Pass IBM P4070-005 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/p4070-005.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

@ After Purchase

@ Guarantee

O Free Update SKTISFACTION GUARANTEEp
@ Satisfied Customers

Latest P4070-005 Dumps | P4070-005 PDF Dumps | P4070-005 Study Guide 1/3


https://www.geekcert.com/p4070-005.html
https://www.geekcert.com/p4070-005.html
https://www.geekcert.com/p4070-005.html

VCE & PDF https://www.geekcert.com/p4070-005.html
2024 Latest geekcert P4070-005 PDF and VCE dumps Download

GeekCert.com

QUESTION 1

Which of the following enables network devices to communicate with SNA applications in the z/OS environment?
A. BTAM

B. VSAM

C.VTAM

D. BDAM

Correct Answer: C

QUESTION 2

Which of the following z/OS components controls TSO, batch job and started task priority assignments?
A. ASM

B. RSM

C. WLM

D. VSM

Correct Answer: C

QUESTION 3

Which of the following actions ensure the "atomic" property of a transaction processing system?
A. Restart and recovery

B. Commit and rollback

C. Accept and deny

D. Apply and retry

Correct Answer: B

QUESTION 4
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Which of the following z/OS features allows selected programs to reside in special libraries and thereby access sensitive
z/OS system functions (such as running in supervisor state or executing privileged instructions)?

A. Lightweight Directory Access Protocol (LDAP) Server
B. Resource Access Control Facility (RACF)

C. System Authorization Facility (SAF)

D. Authorized Program Facility (APF)

Correct Answer: D

QUESTION 5

Which of the following processes is needed to load a mainframe operating system?
A. TSO/E

B. IML

C.JES

D. IPL

Correct Answer: D
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